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R39.R40 set DAC_REF to a percentage of 5V when Qh CANADA. VSZ 5P8
which results in reduced drive to motors Published under GNU licensing () 200
N—— Altematively, two MAXS464 pots st the crtent or even Electronic Lead Screw Motor Driver circuit and VCC power supply
h tter,
one MAXS468 sets the reference voltage. Resistors are the
DRV_PWR lowest cost option, Setting the current with the MAX5464 is
probably more versitile and keeps the reference voltage
reasonably high to potentially reduce noise. In-between is the Size [ FCSMNo, DWG No Rev
MAX5468 which is perhaps the best o .
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